AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: G2TMK-A “W” witH or wiTHOUT PULLEY

CAT ASC2
6213
6186
6012
T 8898
6030
6243
5854 T
\ 6052 5455 F550 5877 6316 6199 6197
// 6326
5294 j;fﬁf _?E: 6173
6236 - / 6238
i 5053
FL76 5 ju
g I TIETES S 5336
6330
f 5814
6339 s
6359 X | :
I \ I i ;
| % I '
i Y i 7
qlfill‘\:ll
6209 F727 6321 Beiesoes
Part Retall Part Retall
Number  Qty Description price Number  Qty Description price
5053 1 Sleeve G 1005/1 $24 6213 1 Conical Tap 1" Gas $7
5294 1 Washer 12x26x2 $4 6236 6 Hex. Head Screw M10x20 $2
5336 1 Oil Seal 40x62x10 $14 6238 1 Screw T.E. M10x20 SX $7
5455 1 Greaser G 1/8” $7 6243 4 T.E. Screw M 12x25 $6
5814 1 Support B 3XR-A $992 6316 1 Bearing 3305 $182
5854 1 Valve Body B2KQ-A $156 6321 1 Bearing 6205-2RS $61
6030 1 Flex. Gasket B 2587 $12 6326 1 Key B 6x6x25 $6
6052 1 OR 133 (24.99x3.53) $13 6330 1 Key 6x6x15 $5
6101 1 Check Valve 2616/2 $26 6339 1 Mech. Seal 25-47-14 $43
6161 1 Washer D.7x75x2.5 $11 6359 1 Counterface G 1002/4 $61
6168 1 Washer B 2621/2 $7 8898 1 Pump Body G2TMK-A $980
6173 1 Washer 10x30x6 $7 9325 1 Rivet 6x12 $2
6186 1 Flex. Washer 33x39x2 $2 F550 1 Shaft Stainless Steel AISI 316 $595
6197 2 Snap Ring E 25 $2 F662 1 Washer $11
6199 1 Snap Ring | 62 $5 F727 1 Impeller G2TMK-A “W" $605
6209 1 Conical Tap %" Gas $6

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 02 9894 4240 | www.aussiepumps.com.au

All prices include GST GMP/JUN 10/1



